TK060.826 @48 mm Panel Coupling Module

SW4

O

_____________________

Mounting View
Montaj Gorinumu

_____________________

_____________________________________________

Box Qontents
Kutu Igerigi
2x  (ip M8x20

O &
63 ‘L(Zﬂ
82
1x 048 =

Panel mounting dimensions

1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
. M5x16 '
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
' ' Pano montaj dlciileri

*M6x30 bolts in the image number 5 are not included in the box contents.
*5 numarali gorselde bulunan M6x30 civatalar kutu icerigine dahil degildir.

Scan for the installation manual
Kurulum kilavuzu igin tarayin

_______________________

(

RN /\

TURKIVE CE ‘ ‘US EI\IIEC;'II-O{I.\‘I(;C

NN LISTED

@ https://teknokol.com @) +90 224 443 23 18 TEKNDKDI ®

Kayapa, Karanfil Cad Kayapa Sanayi Bolgesi
teknokol@teknokol.com @ Nox:/6,p16315 NiIUfer/Bursg P y g Support Arm and Control Panel Systems

D>



